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© 2,313 D) 3,1,2,2
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S0O,, CaSO

Ay NaCl, Naé cé - éo (B)  Ky80,, NayS0,, CasSO;

(C) NaNO3, a 3 2 3 (D) MgSO4’ CUSO4, MgClg
*31/3/1* e g

T — | ‘

(} Scanned with OKEN Scanner



Iy /171771 e

re 1
nergl Instructions :

R ; :
‘ead the following instructions

. very carefully and stri )
t) This question paper co Y ana strictly follow them :

mprises 39 ; ;
i) . . _ questions. All questions are compulsory.
i) ghls question paper is divided into five sections — A. B. C. D and sz)
ection A - Questions No. 1 ey '
’ . . to 20 ar ; ] 4 h
question carries 1 mark. ere Wiuliple Choice Qiations. £ae

Secti - ;
Eachu:;; eftionQueStZ.OIZszNO. 2kI tz 26 are Very Short Answer type questions.
carries 2 marks. Answer to thes ] in the

range of 30 to 50 words e questions should be in

. : :

) Sectzf)n C - Questlons No. 27 to 33 are Short Answer type questions. Each
Question carries 3 marks. Answer to these questions should in the range of
50 to 80 words.

vi) Sectif)n D —.Questions No. 34 to 36 are Long Answer type questions. Each
question carries 5§ marks. Answer to these questions should be in the range of
80 to 120 words.

vit) Section E — Questions No. 37 to 39 are of 8 source-based/case-based units of
assessment carrying 4 marks each with sub-parts.

viii) There is no overall choice. However, an internal choice has been provided in

some sections. Only one of the alternatives has to be attempted in such

questions. : ,

iv)

SECTION A

wwlect and write the most appropriate option out of the four options given for

ach of the questions no. 1 to 90. There is no negative marking for incorrect
20%x1=20

2sponse.
Consider the following chemical equation :

p Al + q H,0 — 5rAl,O3+sHy

the values of ‘p’, ‘@, v’ and ‘s’ must be

To balance this chemical equation,
respectively :

A .3,2,2,1 B) 2,3,3,1
- (©) 2, 3’1 3 D) 3,1,2,2
ily of salts ?

i i ts a fam ‘
ich of the given option represen
X})nc NaCl, NagSOy, CaSOy, (B) KyS0y, NagS0y, CaS0y

(©) NaNOs, CaCO3 NazCOs (D) MgSO,, CuSO,, MeCly

B : [P.T.0.]
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t common m .
g ,The mos ethod of extraction of metals from their oxide ores
is :

(A) Reduction with carbon
(B) Reduction with hydrogen
(C) Reduction with aluminium

(D) Electrolytic reduction

4,  Given below are the structures of some hydrocarbons. Select the two
structures which are related to each other from the given options :

F T
S A SRR & o
H H H H H HH
H H H
| | | H H H
H—C—C—C—H | | |
(iif) ILI }ll (iv) 01=(|3_(|:_(|3=C-H
H—C—H H H H
|
H

(A) (1) and (iv)
(B) (i) and (iv)
(C) (i) and (iid)
(D) (i) and (ii)

' . on
5. Choose the incorrect statement about the common reaction used 1

hydrogenation of vegetable oils.

(A) Ttisan addition reaction.

i lladium ca
. the presence of nickel or pa
P Toiakesp o ¢ ) en carbon atoms.

talyst.

(C) The product contains only single bonds b.etwe onatome:
(D) It is an addition reaction which occurs 1 the prese

catalyst.

l [ P.T.O.]
: *3113/1* e #
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Match Column-I with Col
choices provided. volumn-II and select the correct option from the

Column-I \
a. S%te of fertilisation of egg with the sperm @ .\CZOZLfmn_H
b. Siteof implantation of embryo (ii) Uagma
11 terus

c.  Site of entry of sperm int '
Site nto the female reproductive | (iit) Oviduct
d. Site through which the waste i
: materials generated | (i
by the developing embryo are removed () Flacent

(Y) (;ervi:;

@A) a-(i), b-(), c-(v), d-(iv)

®)  adii), b-), c-(v), d-GV)
©  aiv), b-(i), c-(iid), d-O)
D) axiid), b, e-), d-(V)

e brain which maintains the posture and balance of the

The part of th

body is : 7

(A) Pons | (B) Cerebrum
(D) Medulla

©) Cerebellum

greater concentration in the areas of

3. The plant hormon€ present in

rapidly dividing cells 18 :
(B) Cytokinins

(A) Auxin
©) Gibberellins (D) Abscisic acid

9.  Select a pair of pisexual flowers from the following :
tard

(A) Papaya and mustard (B) Hibiscus and mus
(C)  Hibiscus and papaya (D) Hibiscus and watermelon

nt in the wall of the stornach release :

10. The gastric glands prese
(A) Mucus and Trypsin
(B) Pepsin and Trypsin

(C) Mucus and Pepsint
liva amylase ,
dene [ P.T.O.]

| (D) Pepsin an |
*31/3/1* o d
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1 Absolute refractive index of water and glass is 4 and 3 respectively. If

the speed of light in glass is 2 x 108 m/s, the speed of light in water is :

) 7
(A) Zmls (B) g m/s

16 | g
© 5 ms ® S

When a beam of white light passes through a region of very f'ine dust
" particles the colour of light that scatters the most in that region is :

(A) red | (B) orange
(C) Dblue | | (D) yellow

- - i i s to 3.
A wire of length ‘I is gradually stretched so that its leng“;};mcrease
A Wi | . . . :
= If ?Is original resistance is R, then its new resistance will be
i

3R (B) 6R
-(A)) 9R | o (D) 27R
© |

v
i f ].].

. . .

' lings.
(B) Ithas attractive power for iron filing

ic field lines. | |
ces magnetic fie o e
2 :on of magnetic field lines inside a bar magnh
D) The direction 0
= north pole to its south pole.

. -~ t
i . straight curren
d inside a long
field produce

, onetic
15. ' The strength of magn® 1 depend upon -

carrying solenoid does not

- ]
(A) number of turns e S.O through the solenoid
7 . . rrent flowing )
(B) direction of cu e, solenoid
terial of the cor® filled inside the
(C) matena

- : noid
(D) radius of the coil of the sole

(o I
*31/3/1* _
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Other than the abioti
¢ components, which of the given bioti
iotic components

16.
are not required to make
. . an a ; .
self-sustaining system ? quarium with small herbivorous fishes a
El)) ?quatlc Plants and aquatic animals
11 Derrestrlal plants and terrestrial animals
(Tn) ecomposers as bacteria and fungi
(iv) (?onsumers as clown fishes and sea urchins
(a) (@ and(@v) B) (i) and (i)
C G and (i 11 and (111
. © ) (i) 3 (D) (i) and (v)
For Questions number 17 to 20, two statem ;
Assertion (A) and the other labelled as Zz;i:;: é;;;))ens-e_l:;e tll‘:: efifeii
g:;;;er to these questions ﬁom the codes (A), (B), (C) and (D) as given
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A)- ' |
(®) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) 18 false, but Reason (R) is true.
17. Assertion A) : Hydrogen 835 is not evolved when 2 metal reacts with
nitric acid.
Reason (R) : Nitric acid is a strong reducing agent and reduces the
hydrogen produced in the reaction t0 water.
18. Assertion (A) : In our actions of writing or talking, our pervous System
communicates with the muscles..
Reason (R) : Cranial 1nerves and spinal nerves form the PeTP bherel
nervous system.
> : s <ect
19.  Assersion (&) : Ma gnetic field lines around 2 par magnet never intersec
each other: ntit
y
- dJuced by @ Par magnet 18 & 4%
R . Magnetic field pro¢ o,
eason (R) tha%i;las poth magmtude and direct1on
: ing reduces pollution.
20. Assertion A): Use of jute bags forbslhOPfd s bog may be reused s and
, A i a
Reason (R) . Jut 1S blOdegrada e
~vhen need® , [ P.T.O.]
*31/3/1%* a
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| SECTION B
pstions no. 21 to 26 are Very Short
Qu ) ) | rt Answer Type questions.
: ist the i
21 @ i possible sources of energy required i 4]
reactions. Illustrate any one with a sui in decomposition
suitable example. 2
OR
(b) What is observed
i .V'Vhel’l hydrated ferrous sulphate crystals are
heated in a dry boiling tube ? Gi .
] ? Give balanced chemical equation(s)
of the reactions(s) that occur(s). 2
929. (a) Write th(.% formula of the ions which (@) acids, and (ii) bases
generate in water solutions.
®) Dry HCl gas dces not change the colour of dry litmus paper- Why? 2
93, State the main function of veins in human circulatory system. Why do
they not need thick walls ? 2
24. (a) Explain how the proteins control the ‘characteristics’ in a0
organism with the help of an example of tallness’ trait in pea
plant. _
() Name the section of DNA that controls the ‘characteristics’ in an .
organism. }
25. (@ A student has difﬁculty in reading his textbooks but can zeafd :hef“
plackboard clearty while sitting i the last TO%- Name(;:he . ev:;i;
. : . (0)
vision the student 18 suffering from- List two reasons ue t
his defect .ses. Write the nature of the lenses required t0 correc .
this defect ari=e=: 2
this defect.
OR o galli
N ghow the path of 2 ray of light %2 .mg
(b) Draw a ray diagram of a triangular glass prist
ft refractl g faces 9
obliquely 01 ot 01 Jeviation on it
., and mark the ang §: 100 w. Calculate the resistance of its \
26.  An electric Kkettle 18 I’af'ed 3r(;ti(’)n.
heating element when 12 OPe @ # [ P.T.O-]

*31/3/1+
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SECTION C

ons no. 27 to 33
1est t are Short Answer Typ
e questions.

act ]
a .

Arrange th
e followi
reactivit following  elements a
Y SEes - s they are arranged in the

Aluminum, Calcium, Copper, Lead

(b)  Write balanced
) . chemical e ;
iron (IID) oxide (FeyOg) with aﬁilrzj:;(;ﬁmto show the reaction of

. (a Comm - :

g. (@ 1aily OESS:lt 1Sst azl 1m.p01“tar.1t raw material for various chemicals of
(1) Sodiurrr h da e.dln brmf the method of preparation of
cors yAroxige, and (i) Sodium hydrogen carbonate from

on salt. Wrrte palanced chemical equations of the reactions

that occur.

OR
nstrate that «Alcohol and

() Design an experimental set-up to demo
glucose contain hydrogen but are not categorised as acids”. Also
give the reason to justify this fact. -
rackets

29. On the pasis of the characteristics of the proc
in each case, differentiate petween the following :
te 1in aerobic and anaerobic

preakdown of pyruvéd

(a) Products of
oduct(s) of the processes)

:n human peings (PT

respiration in .
(b) Respiratmn and hotOSynthesis in plants (gas released)
R (c) Respiration in terrestrial animals and fishes (organs involved)
' | now (Y) seeds 18 crossed with
30. A Jant having roun (R), ¥¢
anf));ﬁ:r piielz) lant havin Wrinkled (r), green (¥y) seeds. Subsequently
Fq prog’elr)ly is _ollinate to obtalll Fo progeny
lik
T4 gene atio look
(a What do the geeds ¥y ’ N
(b) a o possih combinatio? of traits it S¢ ds of Fg genet ation
y - Give the PO
Ao EF e 1'atlf bt ning ds of new combmation of traits 11
al

(c) State the e

+31/3/1*
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31. What 1s a rainbow ? Draw 5 labelled diagram to show its formation

3
32. Consider a rectangular cardboard having two holes P and Q through

:;vhlch a current carrying circular loop has been inserted as shown in the

iagram.

(a) Make this diagram on your answer sheet and draw three magnetic
field lines, one each passing through the points 1 (near P), 2 (at the
centre of the loop) and 3 (near Q).

P -1——— —%-___§ Q
\\ ,,
\ /
\\ //
-
AY
o I

(b) List two factors on which the intensity of the magnetic field
produced at the centre of the loop depends.

(c) Name the rule you will apply to determine the directior.1 of
magnetic field produced due to a current carrying straight ,
conductor.

33. (a) “In afood chain energy flow is unidirectional.” Give two reasons for
- la “In a foo
the given statement.
' : or level, how much
i ‘lable at the producex : ‘

B D000 energ}" | a‘:;althe gecondary consumers 2 Give reason

energy will be available to 5

to justify your answer. [ P.T.O.]

#
*31/3/1% a
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SECTION D

Questions O 34 to 36 are Long Answer Type questions

/

34, (@ (1) Consider the following metals :
K, Ca, Al, Cu, Ag, Fe

Select from the above metals, a metal which

L does not react with oxygen even at high temperature. |

II. reacts with oxygen at ordinary temperature and

forms a protective oxide layer which prevents the
metal from further oxidation.

ITII.  catches fire when kept in the open.
IV. does not burn in oxygen but the hot metal is coated

with a black coloured oxide layer.

(i) What are amphoteric oxides ? With the help of balanced
chemical equations show that aluminium oxide is an

amphoteric oxide.
(iii) What are alkalis ? Give one example. 5

OR

() () With the help of balanced chemical equations state the
process of extracting (I) mercury from its ore called cinnabar,

and (II) copper from its sulphide ore.

er articles slowly lose their shiny surfaces
Name the compounds formed on
(II) copper articles in the form of

(ii) Silver and copp
~ when exposed to air.
(I) silver articles, and

coating.

*3US/ , ‘ @ # [ P.T.O.]

5
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Identify th
, € parts X’ and Y’ in the figure given below :

Petal

Sepal

i) Name the yelioWish coloured structures produced by the
part labelled as Y.

(iii) Write the name of the process by which these are
transferred to the part labelled as X

(1v) Explairi the process of seed formation in 2 flowering plant. 5
OR . |
b @ Name the type of asexual mode of reproduction shown ip the
given figure. |

(d) (e)

(@ O (c)

jcellular organism in the diagram.

over sexual

(ii) Identify the v2

Gii) List any two 2

dvantages of asexual reproduction

ion. ;
reprOduCtld xplain any one mode of asexual rePl'Od“Ctmn5

Gv) Name 2n€¢
: observed 11t Hydrd: [ P.T.O.]

*31/3/1* ‘ @ #
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g6. (@ 4 Teiraction of light, through a re
Cergent ray g alwa

ctangular glass slab, the

v . YS parallel to the directi

incident ” ! e direction of the

What haII‘)aB; Why ? Explain with the help of a ray diagram.

the faoe If) ns when g ray of light fallg normally on one of
ol a rectangular glass prism ? Draw diagram.

(i1) ?n o})Ject is placed at a distance of 30 ¢cm from the optical

focal length 20 cm. Use Lens

this case. .
OR

(b) @ A .Student Wishes to study the image formation by a concave
mirror using candle flame as object. State the type of the
image formed by the mirror and mention the change in the
image formed, if any, that he observes when the candle
flame is gradually moved away from the pole of the mirror.
Draw a ray diagram to show the image formation when the
object distance is nearly equal to the radius of curvature of
the mirror.

(ii) A convex mirror used for rear-view on an automobile has .a
focal length of 3:0 m. If a bus is located at 6:0 m from this
mirror, use mirror formula to find the position of the image
of the bus as seen in the mirror. 5

SECTION E
The following questioﬁs are Source-based/ Case-based questions. Read the case
carefully and answer the questions that follow.
hing purposes. Salt ‘A’ is used for
37. A ‘B’ two salts used for was .
batz?r(llg ]zlsireF(::lr test tubes I, IL, III and IV as mentioned below are
taken.
L Rain water + solution of salt A
I Rain water + solution of salt B N
L. Tubewell water + solution of salt .
V. Tubewell water + solution of salt
| [ P.T.O.]
*31/3/1 @ #
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ubes are shak
_ en
same time and the one by one almost ;

noted. lengths of foam formeg in d

(a) Ih which one
_ of the f ‘
minimum ? our test tubes is the foam formeq 4,
e

e f
1 TS 7 at happens wh
with an alkali (say sodium hydro 'den AN ester reacts
equation for the reaction. xice)? Give chemical
. OR 2
(c) (1) What is the cause of hardness o
1s observed that while bathing foam is formeq with

difﬁculty and an insoluble substance is formed. Name
this substance and write the cause of its formation.

f water ? Sometimes it

. . ] 2
38, A person while climbing up a rocky hill comes into a panic state and fear.
His body starts reacting in a “flight-or-flight” condition to adjust to the
dangerous and stressful situation.
Based on the above facts, answer the questions that follow.
(a) (1) Name the hormone secreted in the blood of the person in this
situation. 2
OR
(a) (i) Name the source gland of the hormone secreted in this
condition. 2
(b)  State any two responses in the body of the person as a result of the
secretion of this hormone. 1
(¢ How does the action of the chemical signal in terms of hormones
differ from the electrical impulses via nerve cells ? 1

99, i iacram, an electric circuit consisting of an ammeter, a
ésltslggzg 12 Elgﬁsdﬁ’g;ﬁ V each, a plug key with a gap XY was se: E{’e
Voltmeter, and ammeter readings were recorded in the observation ta
for four arrangements as given below
Arrangement No. 1 — only resistor Ry in gap XY
Arrangement No. 2 — only resistor Rp in gap XY. R
Arrangement No. 3 — Resistors Ry and Ry in series 1n gap

. ' XY
Arrangement No. 4 — Resistors R;and Rg1n parallel in gap
Y
{D—7

*313/1x @ #
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Based on the observations, four V —1I graphs A, B, C and D as shown in
figure were drawn. Study these graphs.

1 D
C

)
o B
2
E A
—

O V (volts)

: pination of R1
, ts the series com
i f the graphs represet
(a) Which one O

a g nts the parallel combination of
(b) Which one of these graphs represe 5
? n arran i : f resistance
g Shzw angement of three resistors eail ;)f e ive
© % o tahat the combination has 2 resistan Q.G
| 10 Q, sO °
Justiﬁcatlon for your answe
‘ | tion of
W :og combinatl
A ry of V is connected ith a ?Zrlesa D Ho
v " st ol Ay 5 esistor ? Justify
¢ : e resiator V‘f, 1d ﬂ:)vv through the 0:3 QT
t wou

@ #
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